Hexachlorocyclopentadiene

Response Ratio
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Response = 2.310e-001 * Amt - 8.015e-002
Coef of Det (r*2) = 0.993253 Curve Fit: Linear
Method Name: Z:\svoasrv\HPCHEM1\BNA P\Methods\8270E-BP020422.M
Calibration Table Last Updated: Fri Feb 04 14:19:33 2022



2,4-Dinitrophenol

Response Ratio
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Concentration Ratio

Response = 2.144e-001 * Amt - 7.164e-002
Coef of Det (r"2) = 0.991417 Curve Fit: Linear
Method Name: Z:\svoasrv\HPCHEM1\BNA P\Methods\8270E-BP020422.M
Calibration Table Last Updated: Fri Feb 04 14:19:33 2022
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